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        READTHEORY 
Name________________                                                                                                                                              
Date________________ 

••  AAnnaallooggiieess  22  Level 7  
  

  

DDiirreeccttiioonnss:: Choose the pair of words that 
best express a relationship similar to that 
of the original pair. Then write the bridge 
sentence(s) to the right.  
 

A finger is part of a hand. 
A leaf is part of a tree. 
 

  Example: 
BBrriiddggee  TTyyppee::  DDeeggrreeee  

##))        FASCINATING : INTERESTING 

AA))  amazing : incredible 

BB))  serious : grave 

CC))  crucial : important 

DD))  strange : weird 
 

  

BBrriiddggee  TTyyppee::  LLaacckk  
  

11))  CORRUPT : MORALS 

AA))  talented : skill 

BB))  rude : intelligence 

CC))  fortunate : money 

DD))  ruthless : mercy 
  

 
 
 

Bridge Sentence: 

  
Someone who is corrupt lacks morals. 
 
Someone who is a __________ lacks 
__________. 

  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  
  

22))  DEMOCRACY : GOVERNMENT 

AA))  master : slave 

BB))  storm : blizzard 

CC))  sonnet : poem 

DD))  tribe : family 
  

 
 

Bridge Sentence: 

  
A democracy is a type of government. 
 
A __________ is a type of __________. 

  

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  ((AAnnttoonnyymmss))  
  

33))  COWARDLY : BRAVE 

AA))  numerous : many 

BB))  foolish : wise 

CC))  awful : dreadful 

DD))  anxious : nervous 
  

 
 
Bridge Sentence: 
  
Cowardly is the opposite of brave. 
 
__________ is the opposite of __________. 
 

 

BBrriiddggee  TTyyppee::  CChhaarraacctteerriissttiicc  
  

44))  KNIGHT : CHIVALROUS 

AA))  flower : fragrant 

BB))  daughter : rebellious 

CC))  conversation : short 

DD))  disease : curable 
  

 
Bridge Sentence: 

  
A characteristic of a knight is to be chivalrous. 
 
A characteristic of a __________ is to be 
__________.  
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BBrriiddggee  TTyyppee::  PPaarrtt  ttoo  WWhhoollee  
  

55))  BUCKLE : BELT 

AA))  suit : tie 

BB))  shovel : pit 

CC))  summer : season 

DD))  month : year 
  

 
Bridge Sentence: 

  
A buckle is part of a belt. 
 
A __________ is part of a __________. 

  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

66))  BLIZZARD : STORM 

AA))  novelist : writer 

BB))  boat : submarine 

CC))  radio : television 

DD))  organization : party 
  

 
 
Bridge Sentence: 

  
A blizzard is a type of storm. 
 
A __________ is a type of __________. 

  

BBrriiddggee  TTyyppee::  OOtthheerr  

77))  CARNIVORE : MEAT 

AA))  vegetarian : wheat 

BB))  herbivore : plants 

CC))  omnivore : food 

DD))  vegan : pastries 
  

 
 
Bridge Sentence: 

  
A carnivore eats only meat. 
 
_____________________________________. 

 

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  

88))  HONEST : SINCERE 

AA))  solitary : alone 

BB))  peaceful : nervous 

CC))  vengeful : forgiving 

DD))  religious : doubtful 
  

 
Bridge Sentence: 

  
By definition, someone who is honest is also 
sincere. 
 
_____________________________________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  

99))  ACADEMY : EDUCATE 

AA))  court : blame 

BB))  trailer : roam 

CC))  jail : imprison 

DD))  café : ingest 
  

 
 
Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

1100))  RECTANGLE : SHAPE 

AA))  dealer : employer 

BB))  deer : antelope 

CC))  telephone : call 

DD))  assault : crime 
  

 
 
Bridge Sentence: 

 
_____________________________________. 

 
_____________________________________. 

 



© Copyright Read Theory LLC, 2012. All rights reserved.   3 

 

Answers and Explanations 

 
1) D 
Someone who is corrupt behaves in a way that he or she knows is wrong, especially when this behavior conflicts with the 
expectations of a government worker. Thus, someone who is corrupt lacks morals. Someone who is ruthless, or merciless, 
lacks mercy, or forgiveness. Therefore (D) is correct. 

 
2) C 
A democracy is a type of government in which people vote to make decisions. A sonnet is a type of poem with fourteen lines. 
Therefore (C) is correct. 

 
3) B 
Cowardly is the opposite of brave. Foolish is the opposite of wise. Therefore (B) is correct. 

 
4) A 
Chivalrous means behaving with chivalry or respect. A characteristic of a knight is to be chivalrous. Fragrant means having a 
noticeable smell. Thus, a characteristic of a flower is to be fragrant. Therefore (A) is correct. 

 
5) D 
A buckle is part of a belt. A month is part of a year. Therefore (D) is correct. 

 
6) A 
A blizzard is a type of storm involving ice and snow. A novelist is a type of writer who writes novels. Therefore (A) is correct. 

 
7) B 
A carnivore is any creature that eats only meat. An herbivore is any creature that eats only plants. Therefore (B) is correct. 

 
8) A 
By definition, someone who is honest is also sincere. By definition, someone who is solitary is also alone. Therefore (A) is 
correct. 

 

9) C 
The purpose of an academy, or school, is to educate people. The purpose of a jail is to imprison people. Therefore (C) is correct. 

 
10) D 
A rectangle is a type of shape with four parallel sides. An assault is a type of crime that involves harming another person’s 
body. Therefore (D) is correct. 


